
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

1.466 × ________ = 1466 6.913 × ________ = 69.13

10.936 × ________ = 109.36 1.521 × ________ = 1521

1.261 × ________ = 126.1 4.881 × ________ = 488.1

9.822 × ________ = 98.22 10.928 × ________ = 1092.8

3.174 × ________ = 31.74 8.304 × ________ = 8304

5.184 × ________ = 5184 9.259 × ________ = 9259

9.909 × ________ = 990.9 5.508 × ________ = 5508

10.08 × ________ = 1008 4.976 × ________ = 4976

6.965 × ________ = 6965 8.436 × ________ = 8436

7.116 × ________ = 711.6 7.729 × ________ = 77.29
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

1.466 × 1000 = 1466 6.913 × 10 = 69.13

10.936 × 10 = 109.36 1.521 × 1000 = 1521

1.261 × 100 = 126.1 4.881 × 100 = 488.1

9.822 × 10 = 98.22 10.928 × 100 = 1092.8

3.174 × 10 = 31.74 8.304 × 1000 = 8304

5.184 × 1000 = 5184 9.259 × 1000 = 9259

9.909 × 100 = 990.9 5.508 × 1000 = 5508

10.08 × 100 = 1008 4.976 × 1000 = 4976

6.965 × 1000 = 6965 8.436 × 1000 = 8436

7.116 × 100 = 711.6 7.729 × 10 = 77.29
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